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Because a (1)television network’s profits depend on its (2)advertising revenues, which
in turn depend on its (3)market share, it needs to attract as large an audience as it can,

We are firmly convinced that whatever (4)methodology is adopted for the study of
advertising must be (5)rigorous and {6)systematic while also being sensitive to the

multiple levels of meaning and the (Dmultiple codes that ads smploy,

Martin Bell (1966} has outlined how the consumer behaves according to the rational
research. The satisfaction of a want involves the stages below: (8)the recognition of a

]

{

, want, (9)the search for means to satisfy the want, (10)the evaluation of competing
] alternatives, and a decision,
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=~ What is the commonplace and difference between mobility using transportation
l and that using information and communications technologies? Please describe it in
‘ English(25%)
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1. The level of language studies considers the "rules” that govern
language use by considering various "grammars."

A) Semantic

B) Syntactic

C} Pragmatic

D) Semiotic

2. The idea that a person might change an attitude to maintain consistency between
attitude and behavior is representative of what theory?

A} Cognitive dissonance theory

B) Social judgment theory

C) Theory of planned behavior

D) Elaboration Likelihood Model

3. Inoculation theory was developed with regard to:
A} Strongly held attitudes
B) Social norms

i C) Cultural truisms

! D) Attitude inconsistency

| 4. Social Exchange Theory proposes that people decide whether to develop or
| maintain a relationship by:

A) Engaging in uncertainty reduction strategies

, B) Assessing whether their self-disclosure is reciprocated

! C) Increasing intimacy in their self-disclosure

: D) Weighing the relative costs and rewards of the relationship

5. The model of communication that is expressed as "Who Says What in Which
Channel To Whom With What Effect” was developed by

A) James Carey.

B) Marshall McLuhan.

C) Wilbur Schramm.

D) Harold Lassweil.




LPLREO ORFRELIRA LR A

FHE P RFAREES (asmmteTa)

2§ B 2O 7

6. A friend nods in agreement at something you've said. This is an example of
A} feedback in interpersonal communication.

B) feedback in mass communication.

C) noise in interpersonal communication.

D) encoding in interpersonal communication.

7. ltis imprecise to speak of "source” and "receiver" in communication because
A} there may be more than one of each.

B) there is much variation in what constitutes a source and receiver.

C) ifthe receiver isn't listening, the source can't be a source.

g D) communication is an ongoing, reciprocal process.

8. Because it is imprecise to speak of "source” and "receiver” in communication,
Osgood and Schramim replaced these concepts with in their model
of communication.

g A) interpreters

B) encoders

C) decoders

D) participants

9. Network executives read the overnight ratings for a new television series. This is
an example of

A} feedback in interpersonal communication.

B) feedback in mass communication.

C) noise in interpersonal communication.

D) encoding in interpersonal communication,

10. People who belong to a bounded culture

A)  do not generally get along with people outside that culture.
' B) choose not to participate in the dominant culture.
i C) usually identify themselves as members of that culture.
I 1) are generally looked down on int the United States.
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11. An individual who believes that a breakdown of traditional values will be the
inevitable result of the spread of the Internet is said to believe in
A) technological determinism

B) manifest destiny
C) technological despotism
D) latent destiny

12. The purchase of 20th Century Fox by Australian company News Corp is an
example of

A) concentration of media ownership.
B) globalization of media.

C) audience fragmentation,

D} erosion of distinctions among media.

13. Literacy is the ability to

A) effectively and efficiently comprehend and utilize a given form of
communication, '

B) read and write at a college level,

C) deliver an effective oral presentation.

D} participate in trade and commerce.

14. The Internst is
A) an indirect product of the Cold War.
B} a global network of interconnected computers,

C) an integral part of the Information Superhighway.
D) all of the above

15. In studying how media's influence is affected by people's intelligence and
education, individual differences theory is an cxample of the era of

A) mass society theory.

B) cultural theory.

C) limited effects.

D) the scientific perspective on mass communication theory.
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16. In two-step flow theory, media influence passes from to opinion
followers,

A) the media

B) opinion leaders

C) powerful eljtes

DD} opinion makers

17. Uses and gratifications theory argues that

A) media don't do things to people, rather, people do things with media.
B) media producers can dictate the uses to which people put media,

C) only selected, especially well-crafted, media messages can influence
gratifications.

D) people use media to gratify only unimportant needs, such as keeping up on
fashions.

18. Klapper's reinforcement theory argues that

A) media are quite powerful, especially in the realm of reinforcement.

B) only selected, especialty well-crafted, media messages can influence
reinforcement,

C) media have little power, but what influence they do have is in the form of
reinforcement,

D} mediating variables make media powerful agents of change.

19. Agenda-setting is a theory that argues that

A) reality is a social construction.

B} cultures attribute meaning to symbols which then control behavior,
C) 1media do not tell us what to think, but what to think about.

D) children can learn violence through watching lelevision.

20. Dependency theory argues that

A) people learn to model the behaviors they see through observation,

B) audience members don't just passively take in and store bits of information, they
actively process this information, reshape it, and store it.

C) media's influence resides in the relationship between the larger social system, the
media's role in that system, and audience relationships to the media.

D) people who share a culture also share an "ongoing correspondence” of meaning.
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21. According to , television constructs a reality of the world that,
although possibly inaccurate, becomes accepted simply because we as a culture
believe it to be true.

A) critical cultural theory

B) the Frankfurt School

C) cultivation analysis

D) social construction of reality theory

22. Television is sometimes called the early window because

A) it was the first electronic means of seeing other parts of the world.

B) children can witness, at an early age, the world outside their homes.

C) people, in order to enjoy the media content they consume, willingly accept as real
what is put before them.

D) the shape of the television screen looks something like a window,

23. The “Hypodermic Needle” model proposes that mass media have
effects.

A) Strong

B} Moderate

C) Limited

D) No

24. The original argument in the agenda setting theory was that the media
A) tell us what to think about

B) tell us what to think.

C) deliberately attempt to influence views on certain issues

D) None of the above

25. The person who makes the final decision about what will become news and what
won'’t is the

A) anchor person

B) gatekeeper

C) president

D) none of the above
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(1) which of the following is about the significance of mass media in contemporary
societies?
1. The mass media constitute a primary source of definitions of social reality.
2. The mass media consolidate their power in the market,
3. The mass media are the largest focus of leisure time interest.
4. all of the abave
5.both 1 and 2
(2) Which of the following is the definition of mass communication?
1. The term ‘mass” denotes great volume of people.
2. The term “mass’ denotes greatl extent of production of messages.
3. The term ‘communication’ refers to the giving and taking of meaning.
4. all of the above
5.both 1 and 2
(3) Which of the following is NOT characteristic of the internet as a medium?
1. Interactive potential
2. Hybrid, non-dictated, flexible character
3. High degree of regulation
4. all of the above
5.both I and 2
(4YWhich of the following is NOT characteristic of mass culture?
I. Elite
2. Homogenized
3. Commercial
4. all of the above
S5.both 1 and 2
(5)Which of the following is involved with the transmission model?
1. Harold Lasswell (1948)
2. B. Westley and M. MacLean (1957)
3. James Carey (1975)
4. all of the above
S5.both 1 and 2 _
{6)Which of the following is involved with the reception model?
1. T. Adorno and M. Horkheimer (1972)
2. Stuart Hall (1980)
3. 1. G Blumler (1985)
4. all of the above
5.both 1 and 2
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(7)Which of the following is the current dynamic of media industries?
1. A wish to make money
2. A struggle for power in society
3. Expansion and convergence
4. all of the above
5.both 1 and 2
(8)Which of the following is true of media cost structure?
1. Traditional media have higher fixed costs than new media.
2. The potential imbalance between the fixed costs and the variable costs of
production
3. A very low “first copy” cost
4. all of the above
5.both 1 and 2
(9)Which of the following is vertical media concentration?
1. Merger of two competing national newspapers
2. Merger of a telephone and a cable network
3. A film studio owning a cinema chain
4. all of the above
5.both 1 and 2
(10)Which of the following is characteristic of media economics?
1. Media are hybrid in respect of markets. '
2. Media business involves creativity and uncertainty.
3. Media tend naturally to concentration.
4. all of the above
5.both 1 and 2
(11)Which of the following is involved with analysis levels of mass media
organizations?
1. Individual level
2. International level
3. Industry level
4. all of the above
5.both 1 and 2
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(12)Which of the following is the typical example of news bias?
1. Minorities are marginalized and stigmatized.
2. The social values which are most underlined are not supportive of the status
quo.
3. Media news under-represents the official voices in its sources.
4. all of the above
S5.both 1 and 2
(13)Which of the following involves the discussion of ideology?
1. Knowledge gap
2. Hegemony
3. Cultivation
4. all of the above
5.both 1 and 2
(14)Which of the foliowing assumes negotiated media influence?
1. Agenda-setting theory
2. Spiral of silence theory
! 3. encoding/decoding model
[ 4. all of the above
| 5. both 1 and 2
J (13)Which of the following involves the imended, short-term media effect?
'jﬁ 1. Media campaign
2. Propaganda
3. Cultural change
4. all of the above
5.both ! and 2
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